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1. “¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …ÍÛ¾Û©ÛäÅÛÛ ›÷Ç, ÈÛÛýÛä …¶Ûé µÈÛÜ¶Û¶ÛÛ ¸ÛóþæùÌÛ¨Û¶Ûé ÅÛàµÛé ŠþÕù½ÛÈÛé ™öé.” ˜Û˜ÛÛÙ ïõÁõÛé. 14 

…¬ÛÈÛÛ 

 ÉÛä× ÈÛ©ÛÙ¾ÛÛ¶Û ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ïõ¤øÛéïõ¤øà …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶Ûé ÅÛàµÛé ŠþÕù½ÛÈÛà ™öé ? ÍÛ¾Û›ÛÈÛÛé. 

 

2. ŠÌ¾ÛÛ•ÛÜ©Ûïõà¶ÛÛ Ü¶ÛýÛ¾ÛÛé ˜Û˜ÛÛë. 14 
…¬ÛÈÛÛ 

 ÍÛ¾Û›ÛÈÛÛé. (ïõÛé̂ ¸Û¨Û ¼Ûé) 

 (1) ÍÛÛ¾ÛÛœ÷ïõ ”Û˜ÛÙ – ÅÛÛ½Û ÜÈÛÊÅÛéÌÛ¨Û. 

 (2) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ÈÛÐü¶Û “Û¾Û©ÛÛ (Carrying Capacity) 

 (3) ¤ÖøÛÈÛéÅÛ ”Û˜ÛÙ ¸Û±ùÜ©Û (Travel cost) 

 (4) Ðéü¦øÛé¶Ûàïõ Ýïõ¾Û©Û ¸Û±ùÜ©Û (Hedonic Pricing) 

 

3. ¸ÛóþæùÌÛ¨Û Ü¶ÛýÛ×ªÛ¨Û ¾ÛÛ¤éø ïõÛýÛþùÛ ïõÛ¶Ûæ¶Û ÜÈÛ. ¼Û›ÛÁõ …¬ÛÙ©Û×ªÛ¶ÛÛ× ¸Û•ÛÅÛÛ×…Ûé¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé. 14 
…¬ÛÈÛÛ 

 ÍÛ¾Û›ÛÈÛÛé. (ïõÛé̂ ¸Û¨Û ¼Ûé) 

 (1) ¸Ûà•Ûä¶ÛÛé ¼ÛÛÔ©ÛÛ¶ÛÛé ”ýÛÛÅÛ. 

 (2) ¸ÛéÁõÛé¤øÛé¶Ûà ˆÌ¤ø©Û¾Û. 

 (3) ïõÛé¡ö (¬ÛàýÛÁõ¾Û) (Coase theorem) ¸Ûó¾ÛéýÛ. 

 (4) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ¾Û›æ÷Áõà (¸ÛÁõÈÛÛ¶ÛÛé) 

 

4. (…) •Ûóà¶Û ÐüÛŠÍÛ¶Ûà …ÍÛÁõÛé ˜Û˜ÛÛë. 14 

 (¼Û) ‘›×÷•ÛÅÛÛé¾ÛÛ× –Û¤øÛ¦øÛé …¶Ûé Áõ¨ÛÜÈÛÍ©ÛÛÁõ¾ÛÛ× ÈÛµÛÛÁõÛé’ ÍÛ¾Û›ÛÈÛÛé. 
…¬ÛÈÛÛ 

 (…) …Ûé¡öÛé¶Û …ÛÈÛÁõ¨Û¾ÛÛ× ¬Û©ÛÛé –Û¤øÛ¦øÛé ©Û¬ÛÛ ©Ûé¶Ûà …ÍÛÁõÛé ˜Û˜ÛÛë. 

 (¼Û) ›÷íéÜÈÛïõ ÍÛ¾Û©ÛäÅÛÛ¶Ûà ›ÛÇÈÛ¨Ûà ¾ÛÛ¤éø¶ÛÛ× ¸Û•ÛÅÛÛ…Ûé ÍÛ¾Û›ÛÈÛÛé. 
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5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé. 14 
 (1) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ÜÈÛïõÛÍÛ …¶Ûé ______ ¸ÛÛÁõÍ¸ÛÁõàïõ ÍÛ×¼Û×µÛ µÛÁõÛÈÛé ™öé. 
  (a) ¸ÛÜÁõÜÍ¬ÛÜ©Û ÜÈÛßÛÛ¶Û (b) ¤øïõÛŠ ÜÈÛïõÛÍÛ (c) ÉÛÐéüÁõà ÜÈÛïõÛÍÛ 
 (2) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ¸ÛóþäùÌÛ¨Û …é _____ ÍÛ¾ÛÍýÛÛ ™öé. 
  (a) ÍÛÛ¾ÛÛœ÷ïõ (b) ÁõÛ›÷ïõàýÛ (c) …ÛÜ¬ÛÙïõ 
 (3) …éÅÛ.¸Ûà.œ÷. (LPG) _____ ¾ÛÛ×¬Ûà ¸ÛóÛ¸©Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 
  (a) ¸Ûé¤ÖøÛéÅÛ (b) ïõÛéÅÛÍÛÛé (c) •ÛéÍÛ 
 (4) ›ÛÐéüÁõ ”ÛÁõÛ¼Û (bads) …é _____ ™öé. 
  (a) ›ÛÐéüÁõ ÈÛÍ©Ûä (b) ¼ÛÛÔ©ÛÛ (c) …Û×©ÛÁõàïõ©ÛÛ 
 (5) ¸ÛéÁéõ¤øÛé¶Ûà ˆÌ¤ø©ÛÛ¶ÛÛé ¸ÛÛýÛÛé _____ ÜÈÛÊÅÛéÌÛ¨Û¾ÛÛ× ™öé. 
  (a) ÍÛÛ¾ÛÛœ÷ïõ (b) …ÛÜ¬ÛÙïõ (c) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ 
 (6) ½ÛÛÁõ©Ûé _____ ISO ¶Û×¼ÛÁõ ÍÈÛàïõÛýÛÛë ™öé. 
  (a) 9000 ¬Ûà 10000  
  (b) 9000 ¬Ûà 14000 
  (c) 9000 ¬Ûà 12000 
 (7) ¸ÛýÛÛÙÈÛÁõ¨Û ³ùÛÁõÛ ¾ÛÐü«Û¾Û ÈýÛÜî©Û…Ûé¶Ûà ÍÛ×”ýÛÛ¶Ûé ÍÛ¾ÛÛÜÈÛÌ¤ø ïõÁõÈÛÛ¶Ûà “Û¾Û©ÛÛ¶Ûé _____ ïõÐéüÈÛÛýÛ 

™öé. 
  (a) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ÍÛ¾Û¬ÛÙïõ (b) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ¸ÛóÜ©ÛïõÛÁõ (c) ›ÛÇÈÛ¨Ûà “Û¾Û©ÛÛ 
 (8) …Ûé¡öÛé¶Û …ÛÈÛÁõ¨Û _____ ¶Ûé ÅÛàµÛé –Û¤øà ÁõÔä× ™öé. 
  (a) H2 (b) O2 (c) NO2 

 (9) 5th ›Û¶ýÛä…ÛÁõà¶Ûé _____ ¶ÛÛé ¸ÛýÛÛÙÈÛÁõ¨Û Üþù¶Û ©ÛÁõàïéõ Š›÷ÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 
  (a) ½ÛÛÁõ©Û (b) …éÜÉÛýÛÛ (c) ÜÈÛÊÈÛ 
 (10) …Û•ÛóÛ ÜÍ¬Û©Û ‘©ÛÛ›÷ ¾ÛÐéüÅÛ’¶Ûé _____ ¬Ûà ›Ûé”Û¾Û ™öé. 
  (a) SO2 (b) CFCs (c) NO2 

 (11) “_______” ÜÍÛ±ùÛ×©Û ïõÐéü ™öé ïéõ, ¸ÛóþäùÌÛ¨Û ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …ÍÛ¾Û©ÛäÅÛÛ¶Ûà Ýïõ¾Û©Û ˜ÛæïõÈÛé.  
  (a) ¸ÛóþæùÌÛïõ ˜ÛæïõÈÛ¨Ûà (b) ¸ÛóþæùÌÛ¨Ûõ ˜ÛæïõÈÛ¨Ûà (c) ¸ÛóþæùÌÛ¨Û 
 (12) ¤ÖøÛÈÛéÅÛ ïõÛéÍ¤ø (travel-cost) ¸Û±ùÜ©Û ______¶ÛÛé …×þùÛ›÷ …Û¸Ûé ™öé. 
  (a) ”Û˜ÛÙ-ÅÛÛ½Û 
  (b) •ÛóÛÐüïõ¶ÛÛé …ÜµÛïõ ÍÛ×©ÛÛéÌÛ 
  (c) •ÛóÛÐüïõ¶Ûà ÍÛ×”ýÛÛ 
 (13) ïõÛé¡ö ¸Ûó¾ÛéýÛ ______ ›Ûé¦éø ÍÛ×¼Û×ÜµÛ©Û ™öé. 
  (a) ¼ÛÛÔ©ÛÛ (b) ÍÛ×̧ ÛÜ«Û¶ÛÛ× Ðü‘õÛé (c) ›ÛÐéüÁõ ÈÛÍ©Ûä 
 (14) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ¸ÛóÊ¶ÛÛé ______¶ÛÛ× ÜÉÛ“Û¨Û ³ùÛÁõÛ ÐüÅÛ ïõÁõà ÉÛïõÛýÛ. 
  (a) ÍÈÛÛÍ¬ýÛ 
  (b) ¾ÛæÅýÛÅÛ“Ûà ¸ÛýÛÛÙÈÛÁõ¨Û 
  (c) ÉÛÛÁõàÜÁõïõ 

__________ 
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1. “Environmental degradation is due to water, air and noise pollutions.” Discuss. 14 

     OR 

 Is present environmental crisis the result of economic development ? Explain. 

 

2. Discuss the laws of thermodynamics.  14 

   OR 

 Explain any two of the following : 

 (1) Social cost-benefit analysis. 

 (2) Carrying capacity model. 

 (3) Travel cost method. 

 (4) Hedonic pricing method. 

 

3. Evaluate the command and control vs market based instruments for pollution  

prevention.    14 

   OR 

 Discuss any two of the following : 

 (1) Pigouvian externalities. 

 (2) Pareto optimality. 

 (3) Coase theorem. 

 (4) Pollution Permits. 

 

4. (a) Discuss the Green House effects. 14 

 (b) Explain the term deforestation and desertification. 

OR 

 (a) Discuss depletion of Ozone layer and its effects. 

 (b) Explain the various measures for preservation of biodiversity. 
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5. Choose correctin option :  14 

 (1) Eco-Development and ______ are interchangeable. 

  (a) ecology 

  (b) sustainable development 

  (c) urban development 
 

 (2) Environmental pollution is a/an _____ problem. 

  (a) Social (b) Political (c) Economic 
 

 (3) Liquified Petroleum Gas (LPG) is obtained from ______ 

  (a) Petroleum (b) Coal (c) Gas 
 

 (4) Public bads are ______ 

  (a) Public good (b) Externalities (c) Internalities 
 

 (5) Pareto optimality is a basis for _____ 

  (a) Social analysis (b) Economic analysis (c) Environment analysis 
 

 (6) India has adopted ISO series No. _____ 

  (a) 9000 to 10000 (b) 9000 to 14000 (c) 9000 to 12000 
 

 (7) The maximum number of individuals that can be supported by a given 

environment is called _____ 

  (a) environmental supporter 

  (b) environmental resistance 

  (c) carrying capacity 
 

 (8) Ozone layer is being destroyed by _____ 

  (a) H2  (b) O2 (c) NO2 

 

 (9) 5
th

 June is celebrated as _____ environment day. 

  (a) India’s (b) Asia’s (c) World’s 
 

 (10) Taj Mahal at Agra may be damaged by _____ 

  (a) SO2  (b) CFCs (c) NO2 

 

 (11) _______ principle states that polluters should bear the cost of abatement. 

  (a) Polluter pay (b) Pollution pay (c) Pollution  
 

 (12) The travel-cost method estimates the ______ 

  (a) cost-benefit (b) consumer’s surplus (c) consumer numbers 
 

 (13) Coase theorem is related with ____ 

  (a) Externalities (b) Property rights (c) Public good 
 

 (14) Environmental problems can be solved by ______ education. 

  (a) Health 

  (b) Value based environment 

  (c) Physical 

    


